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n=100
for k in range(4,n+1):
isPrime=1
for j in range(2,k):
if( k% j==0):
isPrime=0
if( isPrime == 1 ):
print (k)
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n=100
for k in range(4,n+1):
isPrime=1
for j in range(2,k):
if( k% j==0):
isPrime=0
break
if( isPrime == 1 ):
print (k)
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n=20
# % p & E#&
p=[1]1*(n+1)
# p DFMHNERN 1 Z2HA
for k in range(n+1):
plkl=1
#k%Z275n&ET
for k in range(2,n):
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for j in range(k,n):
if (k*j<n):
plk*xjl1=0
# X kIZDOVWT plkl=1 THIWEREZ oM NT 5
for k in range(2,n):
if(plkl==1):
print (k)



AL 2

RO MATTO TS LMileETT S (45,
> kDEAT S EREZE RS,
> k BEBTRVEGEIE [ IZBET S for XEET LR



EREH
pn(k) % k L FOEBOM L EHT 5, EREM L 13,

pn(k) ~ k/logk % ¥k 9 2 EHTH 5, k & 1000 FREZ £ T
pn(k) ZRkd7Tay T2 1DESIZELT S,

180

T T
linel ——

160 -

140 -

120

100

80

60 [

40 F

20

0

L L L L L L L L L
0 100 200 300 400 500 600 700 800 900 1000

Figure: k AN DR DI



A 3

k G278 EIZ pn(k) 2 Hi1 28 & kT %, RE20D S
02 LOEH p[n] ZFHL. n < k O#IFAT p[n] ODF1 % HF19
X & W (3 )

def pn(n):
=0
for m in range(2,n):
s=s+
return(s)
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